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7 100kN/m%#8Z2% | 1.00 | 000 ~ 328| 15249 |3mZE{BZ%| 000 ~ 195| 3.83 19.58 | 100kN/mi%#8z 2| 1.00 | 1083 ~ 10179 15249 |3mEBZB| 2000 ~ 101.79| 8.83 19.38
s 1.00 | 328 ~ 1106 100.00 | ENLS | 1.95 ~ 1106| 3.00 15.16 Zh st 1.00 | 6.00 ~ 1083 100.00 | THhLS | 65,00 ~ 4000 3.00 1516
2 100kN/m%#8%z% | 1.00 ]| 000 ~ 359| 15804 |3mEBZ%| 000 ~ 210| 3.94 19.90 | 100kN/m%#8z5 | 1.00 | 1060 ~ 9809 | 15804 |3mERBZB| 3000 ~ 9809 | 3.94 19.90
s 1.00 | 369 ~ 1137 100.00 | NS | 210 ~ 11.37] 3.00 15.16 Zh st 1.00 | 6.00 ~ 1060 100.00| THLS | 65,00 ~ 3000 3.00 1516
3 100kN/m##8%2% | 1.00 | 000 ~ 386 16291 |3m&xBZ%| 000 ~ 227| 4.06 20.50 | 100kN/mZ#B25 | 1.00 | 1053 ~ 97.95| 16291 |3m&EBRZB| 2500 ~ 97.95| 4.06 20.50
s 1.00 | 38 ~ 1165 100.00 | NS | 227 ~ 1165]| 3.00 15.16 st 1.00 | 6.00 ~ 1053 100.00 | ThLS | 65.00 ~ 2500 3.00 1516
4 100kN/m##x5 | 1.00 | 0.00 ~ 391 163.86 |3m%E#Bz5| 000 ~ 231|409 20.65 | 100kN/m%#B25 | 1.00 | 1054 ~ 9785| 163586 |3m&EBZB| 2500 ~ 97.85| 4.09 20.65
s 1.00 | 391 ~ 1170 100.00 | NS | 231 ~ 11.70] 3.00 15.16 st 1.00 | 6.00 ~ 10.54 100.00 | =nLs | 6.00 ~ 2500 3.00 1516
5 100kN/m%#8%2% | 1.00 | 000 ~ 392| 16392 |3mE{BZ%| 000 ~ 231| 4.09 20.66 | 100kN/mZ#B25 | 1.00 | 1054 ~ 9748\ 16392 |3mEBRZB| 2500 ~ 97.48| 4.09 20.66
s 1.00 | 392 ~ 1170 100.00 | NS | 231 ~ 11.70] 3.00 15.16 st 1.00 | 6.00 ~ 10.54 100.00 | =nLs | 6.00 ~ 2500 3.00 1516
p 100kN/m##x5 | 1.00 | 000 ~ 411 167.46 |3mEBZ 5| 000 ~ 252|427 21.58 | 100kN/m%#82% | 1.00 | 1081 ~ 96.00| 16746 |3mEBZSB| 25.00 ~ 96.00| 4.27 21.58
s 1.00 | 411 ~ 119 100.00 | NS | 262 ~ 1190] 3.00 15.16 FhnLst 1.00 | 6.00 ~ 1081 100.00 | =nLs | 6.00 ~ 2500 | 3.00 1516
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEZD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhst ~ ZhnLst ~ st ~ zhst ~




